Additional file 11. Final models derived from indegendent voluntary pseudo-panel datasets — voluntarsZ subset and
voluntary CD subset

Voluntary GZ Subsef Voluntary CD Subse®
B SE p B SE p

Intercep 0.630¢ 0.4531 0.1797 0.778: 0.239¢ 0.003i
timeBeforel 0.040( 0.008¢ <0.0001 0.049¢ 0.009¢ <0.0001
timeAfterll 0.058¢ 0.011¢ <0.0001 0.058: 0.011« <0.0001
Gende

male vs. fema 1.651¢ 0.404z 0.0006 0.928¢ 0.211(C 0.0003
Blood donation histor®

WB vs. non 0.576¢ 0.574¢ 0.327¢ 0.257¢ 0.2971 0.396:

PLT vs. non 3.019¢ 0.568¢ <0.0001 2.324¢ 0.296¢ <0.0001

Both vs. non 4.343¢ 0.5692 <0.0001 3.259¢ 0.296€ <0.0001
timeAfterl1xgende
timexmale vs. timexfeme 0.0307 0.009z 0.000¢ 0.018t 0.009¢ 0.061(
timeAfterl1xhistor
timexWB vs. timexnor 0.001¢ 0.0137 0.888( 0.001¢ 0.0131 0.888:
timexPLT vs. timexnor? 0.039(C 0.012¢ 0.0021 0.121¢ 0.013¢ <0.0001
timexBoth vs. timexnor® 0.013: 0.012¢ 0.292¢ 0.048¢ 0.013¢ 0.0005

aModel equation for voluntary GZ subset can be daswaverage platelet units per donor=0.6304 + QQ40eBeforell +
0.0588*timeAfterll + 1.6519*(gender=male) + 0.00@@nder=female) + 0.5769*(history=WB) + 3.0199*¢biy=PLT) +
4.3436*(history=Both) + 0.0000*(history=None) + 8ar*timeAfterl1*(gender=male) +0.0000*timeAfterl i¥nder=female)+
0.0019*timeAfter11*(history=WB) + 0.0390*timeAfteit(history=PLT)+ 0.0133*timeAfter11*(history=Both})
0.0000*timeAfter11*(history=None).

®Model equation for voluntary CD subset can be dasvaverage platelet units per donor=0.7783 + 0.048%Beforell +
0.0583*timeAfterll + 0.9285*(gender=male) + 0.00@@nder=female) + 0.2575*(history=WB) + 2.3244*¢biy=PLT) +
3.2595*(history=Both) + 0.0000*(history=None) + 08b*timeAfterl1*(gender=male) + 0.0000*timeAftertfender=female)+
0.0019*timeAfter11*(history=WB) + 0.1219*imeAfteit(history=PLT) + 0.0484*timeAfter11*(history=Bothj)
0.0000*timeAfter11*(history=None).

“Values in bracket are the minimum and maximum nurob@dividual donors in the cells across all iflwexd cross-sections.
9The difference of the outcome change between tim&*&hd time*Both was tested using Z=ghs(p1)/SQRT(SE? + SE?),
0=0.05, one-tailed. For voluntar€D subset: Z=3.821, p<0.0001.

Bold values denote statistical significance.



